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BUERIFIE | NEERHS | WERHS | ERHE | EATHE | HERPE | HEIHS | AEEHS
RfE=E 4,190 4,190 5,230 5,230 5,230 5,230 13,180 [ 13,180M
e = 2090 | 2,500 | 2720m | 3,260 | 2720m | 3,260 | 6.770m | 8,120
BHE =50 2000m | 2500 | 2720m | 3,260 | 2720m | 3,260 | 6770m | 8,120
HHEZ30 1670m | 2,000 | 209m | 2500 | 209m | 2500 | s5260m | 6,310M
INFHEZE 1 /IMNHEE2 NHEES INHE =4 1,040 | 1,240 | 1360m | 1,630 | 1360m | 1,630 | 3380m | 4050MH
MEFHEE1. IEFHEER? 1040m | 1,240 | 1360m | 1,630 | 1360m | 1,630 | 33s0m | 4,050M
E DL PN 2,090H 2,090 2,720M 2,720M 2,720 2,720 6,770 6,770
BERIOFIM, FERIDFIN2 1,040 1,040 1,360 1,360 1,360 1,360 3,380 3,380
AV = N 2610 | 3,130 | s3e60m | 4,390F | 3e60m | 4,390 | s8930Mm |10,710H
H5ThE 2000 | 2,500 | 2720m | 3,260 | 2720m | 3,260 | e770m | 8,120




